Maths Year 6
Attempt as many as you can.
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Find the answers below
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TARGET To solve word problems involving measures using decimal

notation.
Example =
Large cans of paint hold 2.65 ftes 2650
Asmall can holds 0:875 s 0875
How much more paint s there i the large can? T77s

Answer There is 1775 ltres more paint n the large can.
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© Ania's ather weighs
86-4kg. Anita weighs
half as much. How.
much does she weigh?

© Ore cinema et
costs £9.60. What do
i ikets cost?

© Avasting machine
uses 37-9 ltres in.
the wash cycle and a
further 18-6 litres in
the e, How
waer does s
atogether?

© The temperature
at3pms 236,
At3am itis 7-8°C.
How much has the
ermosrasee tavene

© Ten pouras s 13
Euros, Whatls£1in
Euros?

© Afenceis 468m long.
73m of the fence

needs repairing. How
fong i the undamaged

fence?

@ Avanis canying
freight weighing
276.8kg. A further
69.54Kkg i oaed on.
Whatls the weight of
the van's load?

© A square couryard has
a perimeter of 55 m.
How long i one side?

© A shover uses 94 ltres
of vater every minute,
T st
used s e rlts?

© sahi runs the 40om
in $1-36 seconds The
vinner s 2.8 seconds
faster What s the
wineer’s tme?

© Debbie works for five
hours. She earns £76.
How much does she
earn each hour?

© Atub of ice cream
contains 2:5 s,
1685 lites i eaten,
How much s left?

@ Shoe boses are
10-8.cm tall. How tall is
o)

(e et
12m wide and has an
area of 282m?.

2 Howlong is the
garden?

b) Whatis ts
perimeter?

© A carpet costs £17:90

per square metre.
Debbie needs 26

square metres. How
much will Debbie's
carpet cost?

© A Fermari maintained
an average speed of
159.4 km per hour
throughouta race. A
Renault was 279 km
per hour slower. What
was the Renaults
average speed?

© A boiing saucepan
holds 2.25 ltes of
water, 0476 lires
evaporates. How much
water s left?

@ One bag of flour
weighs 145 ko, What
do sxteen bags weigh?

© ight centimetres is
312 inches. What
s one centimetre in
inches?
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A

1432k
2£57.60

B
134634kg
21375m
3470 litres

C
1a) 235m
b) 71m
2£465-40

3565 litres
4158°C

4 48.68 seconds
5£1520
60815 litres

315661 kph
41774 litres
5232kg

513 Euros
6395m

7756cm

6039 inches




